Mot NIA:

Seckion 12.3 )

. rJ‘Tv—;l - ? -
l ST -2 QIR

i (N¥os1 -3 (Jaort +3) i 27
T U2 (v-2) (e +3D 4.y 2t
w40 -Q Jlim 2--(%)
T v (v (JNori+3) xD-2 2+
C lim _ 4v-8 o lim i
T 02 (u-2)(ATGor43) X2 2¥®
S 4(u-2) y7 _ \m
2 yoa w-r)(WJeor +3) % s X2
. o
& fvm L: { R
U2 Jyor +3
4 |3 lim x2rx-f
e el wa. a. w72 ix-z)
i (4 o) up 322D,
€30 L& f24¢ T A2 |x-21
im0
T t20 < € ()
| x-2\
_ o lim e U 7
T oo (feer) €0
b () " | bR
T &% Ue@ed T x>t %=
- ltwm (__t_) - lim +
t2o L tE41) o ot X 3
N (T ’ _
T 40 ¢4 . ‘ g ' o
-2
— s, S BXRERD
= ® Za e W w2t =)
- ~xt-Yx t R
i X2Uxtd 2 (xe3)
xI2 xY ~3x2-4 M2t
2
ol XD w N -3
T xo2 @-w)E ) I I L

2
Vi (=207 =
? o2 (x42)(e=D(¥M) _A;[E_.E,, S [' S S

T &t DI
P ooz a2 _b,le'\wﬁt,DNE_,A-)M.,N_,__._,_~__~_._,_-____A__.w_-,,,__hm___ ]

InE ol & X -xT42

L x-12 ; X2 2
—(«—27; X< 2

A€

9(«10}

Seckions 2.5 -~ 2.4

32 yox k ar3

lim =
s, x22  wlra -1
. lim Bxirexrard

x2-2 (fx+27(«~\)
Nee) 4o £ind how 4o ot i) oA (x*x2)
Usinay synthetic Auision:

3 a (a+3)
-t -2(a-b)

3 (a-b) (-a*15)

|
Remeindev

S 2

Tn ovdev fov 3x? roxtont3y
‘Gi\cbﬂl JON. - (fxbl)c--') , (-&-HS)

ot eqva( o. - - =

_~a¥\S =0

tm By St I
~-7-2 2 tX-2

_ Vim (x4 5«*5\
T2 T ed-O0 L o
ol 313 )(x42)
T2 (xe2)(x-1)

- l‘m\m

_a3 %)

tim, i im 4 2
. x4 2x< ;;:. 9ln) € oy X *2 e S T . S
Linn tim y_ 2
B B O 2 oo R S ( e
R T2 o4

Gim hi
__ Baavst 4oy % s B omd Gt -ated g g
Wt con vt Sguecge dhvm, 1o  sbtaln that

e ‘ sg\'.bl«) 5 1_., [ N -

e e o st A S0 Lot 1 e ey

T G o e e

0z 2. 56
S 101 L S ot AL

s Ldy -
CRp— .8

3 -

‘l.ﬁmv & I



MP veblem

20 . ::\2(,"‘1"1’7‘—1) =1
Sevatch L
a. DNE ., T 04 1¥-2\ LK ,vhen (X*r2x-3-1| <K €
\o. P \' ]\ 2 I’X‘le’8(<e

p.ﬁ,"“‘q 3 -
f/ 4.4
I', % £

woAa

\ §=05 [ (Mt be \55 than 04)

S ACITIRYS

"

[x=2{(x+u (< €

: x-2\lakH | & Mx-2 ¢ ¢

Assume
, | $< 0
c. (5) Ooes ot show thak NTLA1N) -1 pemese M=% %<--t;
i Goesnd proveit. T the pveciie  Jdelbinition !
of a limik i sayp thod € con e andy .
numbiy - queate’ than 0. I€ gov hxd  sex Co
£ o 0.5, i wouldn’t have wovkel. Vo \ S >
N—t f
valug o G oppd would  sotisCy Abn Hac 2
¢ windows itg-os : #
= x-2 (|4 | < FUx-2(¢E . Ix"21 £ ‘
3

LBz wmin (4 %3

 Proot:
| lima (1-4x)=13 tiven €Y 0, P“'K_M s = min(l '_2;
F. x2-3 croatich: 30 0&IX-2\L<Y | then considev S
GOPE 16 ol 1x+3\< B dhew [C1-43)-12\<t -3l
A | Ceax) -3l ce = |x=2lxru\ & (xrul® ot An
= |-4x-12\ <L ¢ _ -|::‘.:\:\‘
) = -4ty \< ¢ lxr4l5< 28 TS 4
h R €\ . - R
) 8:2(8):=¢ mAgetim
- R E 2 RS . Syl
® 4 ar3lee &n s lxva
) . : g
o T ey Taws s v2x-2-1 1< € B
P - AT NEE T
e ek G £70, pick D1 & i o&lmBleh (e (-4 -13lee e oa et s:x-3): @
e i ’ 2 (L4 1314 , : ' i
T P dewmen)ee . SR - IR
e EEICE IR T A

EICTEZIY AN )

Lt alaniea(®)

B

o i

= hlxez]l e ®

T i -8ZE
' "i":‘ (1-4=) ERC 71

PRC-N T S SR ~ .7 JNr

PO S VR




et
U Tyoe . TH ;";:Aﬁor\ ond “"" Q)(’X) dhen
(O3 Y = Yoo o o,
vy swin JinCs (i) J /"
| D -1 £ sin (—};) < Both e f
DAt am(z) 7L 2. Fabie . Countey

S )€ (5 (Z)*5) & wle) 200 o)
> Jotw <hn(an@)es) S Ju® ’ ‘ — ? l o
o5 gl JIWA) & sinTa ) N(a(RIwSY € s NG) K :
W oin2y ,J RCH) B ity o tnle) ™ Btk linmits =~

*xDo xX=)o
do et
l=0 { = 07 xR,

X Bt PX)= S anod )=
L sln‘l‘x,\)\\,\(r-*g;“(};()) =0 via / © ) a ‘3(« 3

B X~ \
N
. Squecv Thvwm | x>0 S+3 O
4. (Fo‘(se The Jelimition ok Ahe squeeze dwm. skakes . o
Gk W ) € i) Shlx) pliom  ano b R A(x) = ,“g:\k(«) L j Aen A 1) 7 ""o,c—x k(fx)

S Tndks Scerowiop Hhe  Second T Tondwion | ov ,‘x‘,','é\(—‘['ﬂ = 2‘;“\(«(«) - -
not met. Hee 5 ke wovk atkemptivy do 3¢ squeete Khem 3 L
St Lees(E)en - - o
5 e < gt“('" < b e o i

=y és e(ﬂcqq < e o ] o

S _
= Cosc..—‘:) s
D TLE ¢ r'e ‘ S
Lim 1 tim xle -
% oz L .z e

_— —— L N e e !—\ K e o i x o B D s wer e s b st v st s B
— a—— L Lmds owe et equal L s e et 1 et e s s e S S
i S bek #M)e Rt e

2
fek W)« 24 i) ‘ ) B - -

R € NG W) e et

bt Mgt : - i
a0 7" e 3 L i
L2 e i o sz it
b.a 92
et -'~{M.~4i°- -
Malx):0 '
oo mrpionn v o e 'ﬂ°§ commmsomslommsmsinfoman ot --w-___.;..,w.,-_.._._,.,;..._...w
o v - X,
- »)




